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One digit = XI XI = 

8888 C8888) 
8X3X8= S12 

Cnes digit = 2 

u 149 149)3 49X149 x199 
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8888X 

888 8 y 8e 

tvl0os = (1003 00s X100SX 1005 

SXSXS 1S 
one dia 5 

V)104 094)3 1694x l0o4 x 109 
=yxYxy= 64 
Oh es oait=y 

+Xtx-33 
Oney diait=3 

vu) 5ba= (50) soa2 x SQ2XSO 2 RX2X2 
tne diqit = 9 

s3x 3 X S3 93X3 21 
One di�ct=+ 

vi) 53=(3 

63 
h-6 Ond Ch-D S 

(6X5) 3 
63 4334 34,+39|4)216 
n=8 oro (n-1)- 
&X)41 S} 

83=S1H5H CH634 t671694 = SR 



itil) 
n= Ocn o (n-1) 
CTXG) FT= y3 

3 3+ YS f tt9t StS3+5S 343 3)o Xa XXRxSX5 
(Rxaxa) XSXS hente et is nota perlect atte cube i331S = 3x3 X3 xSXSX13 = C3x3x3)X 5 XSX 13 Hen e it n0t a e 

oeb penect clube. 8000=, XaXRXZX2x2 X xSXS x2xx (Rx Rx)XSxSXS) Henco tisa 
perect e ceube S6S = SXSXSXS XS XXs 

(SXS x)x (S xSxs) Hen ce it is a pertect culse xAX2 X3x3x sXSXS 
axax2) XS XSxS) X 3X3 Hene it is not 

9000= 

Q poLed cube v 68S9=MX19 x19 
(19 Xxa) Hene t ir a_penlist cube an 39 xaX2 xX an 1 XAX2X1Xt Hente it is not oa po it is ho a peueck uke 

mut mutPy bt 30 that the 
ptoduct becpme a perct cuke 

we 

5 53440- RXRX2XSX Ii X1/ X 
(axax) XFIXII XIU) x5 Hena it is not a perpet 

Cube, wemu be divide S 3UD y @Sso that the 
uotient s a poveet cube 188= Qx y 3x3x 3 x1 

BXX3) 3) X XaX Hence i is no- a perdeet whe 
3 x3x3 X 4u uwe hut be Clivide 1l88 by 

S0 that the guolant is aPUlet 
Cube. 
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600 = Xx XSXS X JXXT 
(xax2 )XC4XTXY SXS Htne- isot 

apetect cube. 
We mut multipky 68400 by S20 that the 
prooluc becone a perytet ule. 
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